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€ They'll oo the table for lunch.

a) set b) do q) sit d) make
@) She's to ride the bus.

a) meeting b) going ¢) taking d) eating
€) Excuse me.I'mlooking ... the museum. Is it far?

a) for b) at Q) in d) to
) Kareem won't ..o in the leaves.

a) to play b) playing c) play d) plays
9 He was so happy. Hewentona ... .

a) prize b) ride c) show d) kite
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Choose the correct answer:

€@ 736.592 = 736.59 (to the nearest --........ ).

a) units b) thousandth c) tenth d) hundredth
9 325X 7 =

a) 227.5 b) 22.75 C) 2.275 d) 2275

% R — (to the nearest ﬁ)

a) 0.4 b) 0.37 ¢) 0.375 d) 0.38
9 The longest chord in a circle is called the - of the circle.

a) radius b) diameter C) centre d) otherwise

e If M is a circle whose diameter length is 10 cm, where MA = 6 cm, then point A is located -

the circle.

a) inside b) outside c)on d) otherwise
@ 13.376 + 15.75 = (to the nearest hundredth)

a) 29.13 b) 29.12 ¢) 29.10 d) 29.11
0 15.7537 approximated to the nearest 0.001 is -

a) 15.753 b) 15.754 c) 15.752 d) 15.75

Choose the correct answer:
o Light travelsin ... lines.
a) curved b) broken C) straight d) zigzag

9 When the white light strikes a red rose, it reflects the - color.

a) red b) white ¢) black d) yellow
9 Different magnetic poles - each other.

a) repel b) attract

¢) intersect d) do not move far away
o The electromagnet can change - energy.

a) magnetic to light b) magnetic to sound

¢) electric to magnetic d) magnetic to electric
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Choose the correct answer from a, b, cor d:

o ldidn'thave ... money to buy popcorn.

a) little b) many ¢) enough d) some
@Be......Theboxisheavy.

a) careful b) problem c) watch d) help
Elam for the museum.

a) looking b) watching ¢) climbing d) playing
OIS treat

a)l b) my C) mine d) me
O rm o . need juice.

a) hungry b) thirsty c) okay d) careful
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Choose the correct answer:
0 327 +24=327 = .

a) 24 b) 0.24 C) 240 d) 2400
9Theset{1,2,3, }is set.

a) a finite b) an infinite C) an empty d) otherwise
€ fXCYthenXnY =

a) X b)Y QL d) otherwise
a Any triangle has - altitudes.

a) 1 b) 2 03 d) 4
9 184225 =

a) 2 b) 0.08 8 d) 0.008
O0.23U23 =

a) {2} b) {3, 1} QD d){1,2,3}
0 If{9,y -3} ={zero, 9}, theny = ..

a)0 b)9 )3 d)6

Choose the correct answer:

o Among the examples of pure substances is -

a) concrete b) distilled water c) milk d) tomato sauce

9 The substance which dissolves to make a solution is called -

a) solvent b) solute ) solution d) No correct answer
[ 3 Yo is a process of separating a solute from a solvent.
a) Grinding b) Evaporation ¢) Stirring d) Shaking

@) The mixture of soda water is a mixture of --.....

a) solid and liquid materials b) carbon dioxide gas in a sugary solution

¢) two or more different liquids d) carbon dioxide gas and water vapor
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Choose the correct answer from a, b, cor d:
o ..................................... good. I'm hungry.
a) Small b) Smile c) Smells d) Slide
@) Hodabakeda ... and a cake.
a) pan b) pot ) pie d) log
9 My sisterisgoingtohang ... the clothes.
a)in b) on c) at d) up
o They didntgo ..o aride.
a)in b) on c) at d) under
@ Don'tdrop ..o . Use the bin.
a) little b) letter c) litter d) late
- o
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Choose the correct answer:
ﬂlfaex,thena ................... X’

a) ¢ b) € Q€ d) C
9 The probability of the sure event = -

a) 0 b) 1 03 d)
(3 Ry 117,77}

a) ¢ b) € Q€ d) C
Q If{7,2} = {2, x + 4}, then x =

a)3 b) 4 €2 d)7
6 When tossing a regular coin once, the probability of getting a tail = -

a)1 b) 1 03 d)i

X=X = o

a) @ b) zero c) {0} d) {1}
0 The probability of the appearance of 7 on the face of a die when it is thrown = -

a)l b) zero c)%1 d)%

Choose the correct answer:

o Predationisa - food relationship between the predator and the prey.

a) cautious b) temporary C) permanent d) strong
9 The - ejects a black fluid in the surrounding water when attacked by an enemy.
a) bee b) frog c) cuttlefish d) chameleon

9 All the following are large ecosystems except the -

a) desert b) water pond c) forest d) sea
9 Saprophytic organisms ... the chemical elements within the ecosystem.
a) provide b) recycle c) keep d) No correct answer
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Choose the correct answer from a, b, cor d:
€D NextMonday, he ... go to the beach.
a) didn't b) won't ) isn't d) doesn't
@) We go skiinginthe ... :
a) winter b) spring C) summer d) fall
€) He likes to drink ... :
a) lemonade b) chicken c) kebab d) French fries
@) I think they're ... :
a) her b) him c) hers d) my
) My fatheris goiNg to ..o a video.
a) ride b) visit ¢) download d) eat
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0 {M} oo {Mohamed}

a) & b) € cC d ¢
Q 3.275 = (to the nearest hundredth.)

a) 3.27 b) 3.28 3.3 d) 300
e Aright triangle has - altitudes.

a) 1 b) 2 3 d) 4
Q The probability of the sure event is -

a)0 b)% o1 d) @
6 If% = 1?6, then the value of ¢ = -

a)2 b) 3 12 d) 24
() 357x1000=

a) 0.357 b) 0.0357 c) 3570 d) 37.5
@ 09612x10 961.2 = 1000

a) > b) < Q)= d) otherwise

Choose the correct answer:

o The material which is attracted to the magnet is -

a) paper b) aluminum ¢) wood d) cobalt

9 Mixing green light with red light produce -

a) cyan b) yellow C) magenta d) violet

9 Sugar solution can be separated by -
a) filtration b) separating funnel

C) evaporation d) All the previous answers

o Without the saprophytic organisms, the earth’s surface would be covered by -

a) plants b) animals ¢) living organisms d) dead bodies
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Choose the correct answer froma, b, cord:

€D A:What's ..o ,Laila?  B:lcan't find my sunscreen.

a) right b) write C) wrong d) left
9 She’sgoingto ..o, an ice cream.

a) buys b) bought ) buy d) buying
© , she watched a video.

a) Tomorrow b) Every day c) Yesterday d) Always
o This woman iswearinga ..., .

a) paws b) law ) jaw d) shawl
O What of juice do you want?

a) old b) time c) kind d) about
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Choose the correct answer:

0 The triangle whose measures of its angles are 50°, 90° and 400, is -

a) an acute-angled triangle b) an obtuse-angled triangle

) aright-angled triangle d) otherwise
Q The length of the diameter of any circle ... the length of any chord that doesn't pass

through the centre.

a) < b) > Q)= d) <
9 43 days = - (to the nearest week).

a) 4 b) 6 o5 d7
@) 2861 x = 28610

a) 10 b) 100 ¢) 1000 d) 10000
O5.4-7,9 4=

a) {5} b){7,9,4} ai{7,9) d) {4}
6§<%< 1,thenx =

a)l b) 6 Q7 d) 8
0 The number of subsets of the set {8} = .

a)o b) 1 Q)2 d)3

Choose the correct answer:

o The food relationship between a lion and a deer is -
a) predation b) saprophytism ¢) mutualism d) commensalism

9 To decrease the solubility time, you should -

a) increase the quantity of the solvent b) decrease the temperature
) increase the quantity of the solute d) No correct answer
9 ------------- consists of an iron bar, a coil & a battery.
a) Electromagnet b) The dynamo ¢) Natural magnet d) Lamp

o The materials which allow some light to transmit through are called -
a) translucent materials b) opaque materials

¢) transparent materials d) All the previous answer
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Choose the correct answer from a, b, cor d:

(1 he climb the mountain?

a)ls b) Was ¢) Do d) Did
@) Next Monday, he .....oeerrserrrnn go to the beach.

a) didn't b) won't ) isn't d) doesn't
E) Let’s e juice

a) drink b) eat ¢) slide d) cry
) She washed the pots at twelve ... .

a) o'clock b) clock c) clocks d) watch
@) Hodabakeda ... and a cake.

a) pan b) pot C) pie d) log
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Choose the correct answer:

€ 312952161 = (to the nearest 1)

a) 52.905 b) 52.90 ¢) 52.91 d) 52.92
9 The shaded part represents ... Y@X

axny b) X-Y aY-X dXUyY
(3 Jo — {0}

a) = b) C Qs d) e
Q Any chord passes through the centre of a circle is called -

a) a diameter b) a radius c) aside d) otherwise
e 562 Kg = grams.

a)5.62 b) 56200 ) 5620 d) 562

6 If XandY aretwosetsandY C X, then X NY =
a) X b)Y c) du
0 The smallest even number is ...

a)o b) 1 Q)2 d) 4

Choose the correct answer:

o Anelectriccurrentisgeneratedinacoilofaninsulated wirewhenyoumovea/an .- inside the coil.
a) iron bar b) wooden bar ) bar magnet d) non-magnetic bar

9 If the distance between an object and a plane mirror is 50 cm, then the distance between

the image and the mirror is -

a)30cm b) 40 cm c)50cm d)10cm
9 To separate the mixture of sand and iron filings, use -

a) filtration b) shaking c) magnetic attraction  d) (a) and (c)

9 The animal which devours another one is called a -

a) parasite b) host C) prey d) predator
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to visit my friend tomorrow.

a) goes b) going c) went d) go
[ 2 the floor. It's not clean.

a) Put b) Make c) Do d) Sweep
9 They have breakfast .......................... the morning.

a) at b) for Q) in d) on
O What ..., of juice do you want?

a) old b) time ¢) kind d) about
@Be........ITheboxisheavy.

a) careful b) problem ¢) watch d) help

duclai_ AUl wijll

: ol 93| ps Las Al dylsy | i
e 21,1310 B3l 5 slas <ol @)
Gl = LAl = el = ol
R Byt Barb e slives Jlads bl 5,5 €]
(2 lsill- p3ladl - Zpaa ¥ | - yle Lew¥ 1)
a3 AUl Do .. ssblied | L @)
(w58 ST = Gugaiphail - Layluad) [3llS = Jo¥ | (ugpallay )
e aa § dinas dlec Jol el @)

(LusdliST = Luaishail = Jo¥1 Luguallay— nSY1,USLLYT)

J
sassssaas (D)



(/_\,ﬂc@u\,«u_\,ﬂ)

\ 2 0
(\L TL TL T)

(iUS,i.é Lu.l.CLJ:‘-‘ALG)B-)

‘{%)

Jl/

(Lo

(Y 8000V 50)

CTRIFSPEIE R PUE RIS IS

A \
Gt

) e =¥ Gle dawdll Judy sae aels Jlads| O by 50 350 o alT (@)

: sl (g Los gl Bl ¥ 115

------ = (1P Ol iiielis Gnicganma ~2 0 o m i 15 )

\=......2 Y
A
LT (I o3l il | il Silelat)) alo A5

....... = 3.\:-‘33).A ;3232\4!43;&\;.\.2.:3)3.@)_9.@.5 JLA-B‘

Q@ @ 0 0 O

oo =) Jipul=a) ¢ A= ¢ J b sl ¢ d Editl

....... olyla3) Al S 5 OLO

(sl = ol = pouiagl¥) — yasdl)

(sl =38 Lol = Jalaill - J3ISTI)

ol = 259 58l = Cnlll = ¢Lall)

(yewgy = SBLAT = Csl¥ 1 = SilyLasll)

Creansl] (i Las Fomgonaal| gl ¥ 125

o danblatlslgll e @)

Agilael cpaslazssld J sl SIS aLdsi sl @)

e 52 il 5%, bplse & cnitl @)

R TR URRFHIIPTEA R ¢ )

J/
Azl uslihl il @.



0 {1,2} the set of prime numbers.

a) € b) & QcC d) ¢
9 In any circle, the length of the diameter is - the length of radius.

a) half b) double C) triple d) quarter
€ 65384 =65

a) 0.384 b) 3.84 c) 384 d) 384
a 29 days = (to the nearest week).

a)5 b) 4 Q)6 d7
9 X O X = o

a) X b) X’ o0 d) @

G The shaded part represents ...

a)Xny b)X UY @
QX-Y dY-X
ﬂ The probability of the impossible event = ...
a)o b) 1 QD d)

N[ —

Choose the correct answer:
o Strawberry seems red because it - the red color only.

a) refracts b) absorbs C) transmits d) reflects
9 A small light magnet moves freely around a fixed axis is called a/an -

a) electric bell b) motor c) dynamo d) compass
9 The substance which dissolves to produce solution is called a -

a) solvent b) solute ) mixture d) suspension

o Predation - the number of preys.

a) increases b) organizes c) decreases d) No correct answer
_ .

®
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Choose the correct answer from a, b, cor d:

o He wants some green ..., .

a) salad b) water c) meat d) fish
@) Wewon't ..o skiing in the winter.

a) goes b) go ¢) going d) went
€ Itstime art class.

a) for b) at ) with d) in
) She oo ice cream yesterday.

a) boat b) bought ) bye d) buy.
) Heis going to take out the ... :

a) film b) email ) garbage d) floor
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Choose the correct answer:

@ f7,10}c {10, x + 3}, then x =

d) 6

d) 4.5

a)3 b) 4 o5
9 The length of the longest chord of a circle is 8 cm, then the length of the radius of the same
circle = cm.
a)8 b) 16 Q4
9 The number of subsets of the set {2} is -
a)8 b) 6 Q4
9 19708 ~ 379 =
a) 48 b) 52 c) 54
9 The altitudes of the obtuse-angled triangle intersect - the triangle.
a) outside b) inside ¢) at the vertex of
G A circle its radius = 7 cm, then its diameter = .. cm.
a)3.5 b) 14 Q)12
05 ................... 8,6)N{3,6,1,5)
a) € b) & c)C

Choose the correct answer:

o A pencil seems as if it's broken at water surface due to - of light.
a) refraction b) reflection C) separation

9 An example of internal parasite is -
a) liver worms b) mosquitoes ) lice

9 Solubility process is affected by -
a) stirring b) heating ¢) grinding

o A black opaque object - all light colors.

a) absorbs b) reflects ) refracts

d) No correct answer

d) lions

d) (a) and (b)

d) No correct answer
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Choose the correct answer from a, b, cor d:
O he climb the mountain?
a) s b) Was c) Do d) Did
9 Next Monday, he ... go to the beach.
a) didn't b) won't ) isn't d) doesn't
ELet’s juice
a) drink b) eat ¢) slide d) cry
() She washed the pots at twelve ... :
a) o'‘clock b) clock c) clocks d) watch
e My father wantsto ... an email to my aunt.
a) send b) ride c) drive d) visit
L .
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Choose the correct answer:

0 Acircle its radius = 2 cm, then its diameter = ... cm.

o o4 912 d)16
9 S J— {99, 19}

. 0 e Jc d) ¢
€) The probability of the impossible event = -..........

a)0 b) 1 e ! %
Q Estimate the result of 4384 +2.32 = ...

2)6 b) 7 9% v
9 The probability of getting an odd number when tossing a die once is -

. b)% c)% d) zero

G The probability of the pupils, failure in an exam is % therefore the probability
of success is

1 4 1

a) 3 b) 1 Q) B d) 3
0 The quotient of dividing 5.45 + 0.5 = -

a)1.9 b) 1.09 c)10.9 d) 109
Choose the correct answer:
o Malaria disease is caused by -

a) filaria worms b) mosquitoes c) fungi d) No correct answer
9 The common solvent is -

a) alcohol b) tea c) salt d) water

9 The characteristics of the object’s image that is formed through narrow holes are -

a) minimized and inverted b) enlarged and inverted
¢) minimized and upright d) enlarged and upright
@) Red light + Green light + Blue light = -......
a) Black b) Cyan c) Yellow d) White
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Choose the correct answer froma, b, cord:

€ Icantanswerthe ... :

a) ripple b) riddle C) cattle d) battle
@) She tickets yesterday.

a) buy b) buying ¢) bought d) buys
E)She's to ride the bus.

a) go b) going ) goes d) went
@) My horse hasablack ... :

a) saddle b) beetle ¢) noodle d) riddle
@ sShe at my jokes.

a) laughed b) looked ¢) played d) listened
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Choose the correct answer:

0 The triangle whose measures of angles are 50°, 80° and 50° is - -angled triangle.
a) an acute b) an obtuse ) aright d) otherwise
e If{7,10}={10, x + 4}, then x = e
a3 b) 4 5 d) 6
9 The altitudes of an acute-angled triangle intersect at one point located - the triangle.
a) inside b) outside ¢) at the vertex of d) otherwise
Glfaex,thena ................... X'
a) e b) ¢ c)C d) ¢
e The perimeter of the equilateral triangle whose side length is 5.2 cm = cm.
a) 15 b) 10.4 c) 20.8 d)15.6
6355+ 18 =355 =
a) 1.8 b) 18 c) 0.18 d) 1800
ﬂ In the opposite figure: A
If the radius of the circle M is 3.5 cm, ABis achordand AB=5 cm, ﬁ)
then the perimeter of the triangle
MAB = - cm. B
a)11.5 b) 7 12 d)13.5
Choose the correct answer:
o Milk, concrete and tomato sauce are considered -
a) mixtures b) pure substances c) solution d) (a) and (b)

9 When a magnet is hanged freely, it will take - direction.

a) north-east b) east-south ¢) north-south

9 The dynamo generates - energy from mechanical energy.
a) thermal b) light c) electrical

o ~~~~~~~~~~ are extinct animals due to the changing of natural conditions.

¢) Bilharzia worms

a) Dinosaurs b) Mushrooms

d) No correct answer

d) No correct answer

d) Ascaris worms

)



